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A 90° elbow is used to direct water flow at a rate of $$9)5 =
0.025m?3/s in a horizontal pipe,’i.lpward. The
diameter of the entire elbow is 10cm. The elbow

discharges water into the atmosphere, and thus the pP_,
— =

pressure at the exit is the local atmospheric ~
pressure. The elevation difference between the

centers of the exit and the inlet of the elbow is 35 2,3, = 0-35m
cm. The weight of the elbow and the water in it is ~
considered to be negligible. Take the momentum-

flux correction factor to be 1.03. Determine (a) the Water
gage pressure at the center of the inlet of the elbow 2N
and (b) the anchoring force needed to hold the

elbow in place. -
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Question 2

A water jet is used at a carwash is created by
connecting a nozzle to a hose as shown in the
figure below. The pressure at the inlet is 250
KPa and the flow rate is 1.0 L/s. The inlet
diameter is 25 mm and the exit diameter is 10
mm. Determine the anchoring force required
to old the nozzle in place.
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Question 3

A jet of water strikes a stationary flat plate perpendicularly, if the jet diameter is
7.5 cm and its velocity upon impact is 30 m/s, determine the force, Fx, required to
hold the plate in place neglecting frictional losses.
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